112& < & > AMEEHEHL 2RI

==> RY

#1: 6 BEYE(114.31) #2: 3 FIE(110.55) #3 5 BkizA B £ (107.68)

1 NS: 2% WH¥RfaEI0) -16 1 O NS: 81818 SX#(BAC) 12 2.69 17.31| Total VP: 89.33 Rank:
EW: $8{—5¢ MESEEIC) -12 EW: E3Z5E 5RE5%(BAO) 16 IMP:| 7 03 6
__ -
# 17 T 3NS-1-50 Mean: 3NS3 400 7.0 1 |[#18 s J9 2HS3 140 Mean: 2HS3 140 30 1
v 632 3NS3400 100 1NS5 210 30 1 v 96 4HS-1-100 30  4SXE-1 100 20 1
¢ T6432 Dif: -450 NS:-4 1NS3 150 2.0 1 + AQJ5 Dif: 240 NS:3  4SE-2 100 20 1
& AJT7 IMP: -10 EW:-7 3HN3 140 1.0 1 & AK943 IMP: 6 EW:4 3SE-2 100 20 2
» J9764 #» K853 1NS2 120 1.0 2 |[|a QT73 #» K8654 2HS2 110 20 1
v 94 v KJT7 3CN3 110 00 1 [|w 32 I v AKT 3SE-1 50 1.0 1
* Q9 + K85 3NS-1 50 40 2 [|e T987 * K3 4HS-1 100 -40 1
& 9853 » K4 2SW2 110 50 1 ||& Q87 » JT6 2SE2 110 40 1
®+VASN 4 AQ2 FOVAN 4, A2 3SE3 140 50 1
N 453~ 2 v AQ85 N 223~~ v QJ8754
S 453 ~2 ¢AJ7 S 223 ~~ ¢642
E ~~~1~ &Q62 E ~~~21 &52
W-~~~1~ W ~~~21
# 19 a9 4HS6 480 Mean: 4SXE-2 500 2.0 1 ||#20 » 854 1NS4 180 Mean: 3NS4 630 7.0 2
v A9 4HS6 480 430  4HS6 480 20 5 v KQT5 3NS4 630 350 3NS3 600 6.0 2
« AT9872 Dif: 0 NS:2 4HS5 450 1.0 2 ¢ T83 Dif: -450 NS:-5 2DW-2 200 40 2
& K762 IMP: 0 EW:-2 4HS4 420 00 1 & AK2 IMP: -10 EW:-7 2NS4 180 5.0 1
s T74 ~ AKQ8653 3SE-1 100 -80 1 » KT962 2NS3 150 5.0 1
62 v T83 + v 862 1NS4 180 5.0 2
+ KJ654 *3 *5
& Q84 a J5 » 9853
o VABN ,J2 a AJ7
N 535~~ 'KQJ754 'J93
S 535~~ 4Q + KQJ
E ~~~2~ &AT93 & T764
W ~~~2~
# 21 & K92 4SE5 -450 Mean: 5SE-1 50 9.0 1 # 22 & AT973 1SS-1-50 Mean: 4SS4 420 9.0 1
v K954 4SE-150 -340 4SE-1 50 920 1 v 84 4SS-1-50 50  3SS3 140 30 2
+ A53 Dif: -500 NS:-3 4SE4 420 -20 2 + AT4 Dif: 0 NS:-3 3SN3 140 30 1
» J52 IMP: -11 EW:-9 4SE5 450 3.0 6 » T54 IMP: 0 EW:3 4SS-1 50 3.0 4
4 Q87 & AJ654 a 64 4SN-1 50 3.0 1
v AJ32 v T6 v AKJT3 — v 76 18S-1 -50 3.0 1
¢ KQT64 7 ¢ 532 + QJ986
4 & AK763 & AJ96 » KQ82
F¢VABN ,T3 %o ¢ VAN 4, KQJB5
N ~~~~~ v Q87 N ~~~3~ v Q952
§ ~~~~~ ¢ J982 S ~~~3~ ¢K7
E ~~~42 &QT98 E 343~~ 473
W ~~~42 W 343~~
# 23 » 32 2CE2 -90 Mean: 3NE-4 400 9.0 1 ||# 24 » 8543 4HS-1-50 Mean: 4HS4 420 9.0 1
v J765 2CE3-110 o 3NE-3 300 7.0 1 v QJ852 4HS-1-50 40 5CXE-2 300 60 1
+ QJ94 Dif: 20 NS:-3 2CE-2 200 50 1 ¢ T82 Dif: 0 NS:-3 3HN3 140 30 1
& A92 IMP: 1 EW:3 3CW3 110 30 1 & A IMP: 0 EW:3 4CE-1 50 00 1
s K4 a AJT7 2DW2 90 3.0 1 ||s KJ76 ~ Q92 4HS-1 50 3.0 3
v 98432 + v K 2CE3 110 30 1 97 v A 4HN-1 50 3.0 1
¢ KT632 * A7 2CE2 90 3.0 2 ||e QJ765 * K4 4HXS-1 100 40 1
J S » K87653 2CE4 130 -40 1 ||a T2 » KJ87543 3CE4 4130 5.0 1
%o VAN 4 Q9865 2SS-2 200 -50 1 oo VAN 4, AT
N ~~~~~ v AQT N ~~3~1 v KT643
S ~~~~~ + 85 S ~~3~1 ¢A3
E 31~~~ QT4 E 31~2~ &Q9%
W31~~~ W 31~2~




112& < & > AMEEHEHL 2RI

==> RY

#1: 6 %?Ea(llﬁr 31) #2: 3 Fi4(110.55) #3 5 BkizA B £ (107.68)

2 NS: BEST HREEFEGHO) 1 3 S: ZIiRFS BREsE(EAC) 19 4.77 15.23 | Total VP: 65.94 Rank:
EW: ElEZ 525 EIC0) -19 EW: [RFR #F{ZE(BR0) -1 IMP:| 14 29 10
__ - —
# 17 T 1NS5210 Mean: 3NS3 400 7.0 1 |[#18 s J9 4SE-2 100 Mean: 2HS3 140 30 1
v 632 1NS2 120 100  1NS5 210 30 1 v 96 4SXE-1100 30  4SXE-1 100 20 1
¢ T6432 Dif: 90 NsS:3  1NS3 150 2.0 1 + AQJ5 Dif: 0 NS:2 4SE-2 100 20 1
& AJT7 IMP: 3 EW:-1  3HN3 140 1.0 1 & AK943 IMP: 0 EW:-2 3SE-2 100 20 2
» J9764 #» K853 1NS2 120 1.0 2 ||a QT73 # K8654 2HS2 110 20 1
v 94 v KJT7 3CN3 110 00 1 [|w 32 I v AKT 3SE-1 50 1.0 1
* Q9 + K85 3NS-1 50 40 2 [|e T987 * K3 4HS-1 100 -40 1
& 9853 » K4 2SW2 110 50 1 ||& Q87 » JT6 2SE2 110 40 1
®+VASN 4 AQ2 FOVAN 4, A2 3SE3 140 50 1
N 453~ 2 v AQ85 N 223~~ v QJ8754
S 453 ~2 ¢AJ7 S 223 ~~ ¢642
E ~~~1~ &Q62 E ~~~21 &52
W ~~~1~ W ~~~21
# 19 a9 4SXE-2 500 Mean: 4SXE-2 500 2.0 1 ||#20 » 854 2DW-2 200 Mean: 3NS4 630 7.0 2
v A9 4HS4 420 430  4HSe 480 20 5 v KQT5 3NS4 630 350 3NS3 600 6.0 2
« AT9872 Dif: 80 NS:2 4HS5 450 1.0 2 ¢ T83 Dif: -430 NS:-4 2DW-2 200 40 2
& K762 IMP: 2 EW:0 4HS4 420 00 1 & AK2 IMP: -10 EW:-7 2NS4 180 5.0 1
s T74 ~ AKQ8653 3SE-1 100 -80 1 » KT962 2NS3 150 5.0 1
62 v T83 + v 862 1NS4 180 5.0 2
+ KJ654 *3 *5
& Q84 a J5 » 9853
o VABN ,J2 a AJ7
N 535~~ 'KQJ754 'J93
S 535~~ 4Q + KQJ
E ~~~2~ &AT93 & T764
W ~~~2~
# 21 & K92 4SE5 -450 Mean: 5SE-1 50 9.0 1 # 22 & AT973 4SS-1 -50 Mean: 4SS4 420 9.0 1
v K954 5SE-150 -340 4SE-1 50 920 1 v 84 3SS3140 50  3SS3 140 30 2
+ A53 Dif: -500 NS:-3 4SE4 420 -20 2 + AT4 Dif: -190 NS:-3 3SN3 140 30 1
» J52 IMP: -11 EW:-9 4SE5 450 3.0 6 » T54 IMP: -5 EW:-3 4SS-1 50 3.0 4
4 Q87 & AJ654 a 64 4SN-1 50 3.0 1
v AJ32 v T6 v AKJT3 — v 76 18S-1 -50 3.0 1
¢ KQT64 7 ¢ 532 + QJ986
4 & AK763 & AJ96 » KQ82
F¢VABN ,T3 %o ¢ VAN 4, KQJB5
N ~~~~~ v Q87 N ~~~3~ v Q952
§ ~~~~~ ¢ J982 S ~~~3~ ¢K7
E ~~~42 &QT98 E 343~~ 473
W ~~~42 W 343~~
# 23 » 32 2SS-2 -200 Mean: 3NE-4 400 9.0 1 ||# 24 » 8543 4HS4 420 Mean: 4HS4 420 9.0 1
v J765 2DW2-90 o 3NE-3 300 7.0 1 v QJ852 4CE-150 40 5CXE-2 300 60 1
+ QJ94 Dif: -110 NS:-5 2CE-2 200 50 1 ¢ T82 Dif: 370 NS:9 3HN3 140 30 1
& A92 IMP: -3 EW:3 3CW3 110 =30 1 & A IMP: 9 EW:0 4CE-1 50 00 1
s K4 a AJT7 2DW2 90 3.0 1 ||s KJ76 ~ Q92 4HS-1 50 3.0 3
v 98432 + v K 2CE3 110 30 1 97 v A 4HN-1 50 3.0 1
¢ KT632 * A7 2CE2 90 3.0 2 ||e QJ765 * K4 4HXS-1 100 40 1
J S » K87653 2CE4 130 -40 1 ||a T2 » KJ87543 3CE4 4130 5.0 1
%o VAN 4 Q9865 2SS-2 200 -50 1 oo VAN 4, AT
N ~~~~~ v AQT N ~~3~1 v KT643
S ~~~~~ + 85 S ~~3~1 ¢A3
E 31~~~ QT4 E 31~2~ &Q9%
W31~~~ W 31~2~




112& < & > AMEEHEHL 2RI

==> RY

#1: 6 BEYE(114.31) #2: 3 FIE(110.55) #3 5 BkizA B £ (107.68)

3 NS: 75 BEEHERC) 19 2 NS: BRZ<F MigF(580) 1 15.23 : 4.77 Total VP: 110.55 Rank:
EW: BESF R #F{CEEH0) -1 EW: 8lfE& B3Ei5(BAC) 1 IMP:| 29 14 2
__ - o
# 17 T 1NS5 -210 Mean: 3NS3 400 7.0 1 |[#18 s J9 4SE-2 -100 Mean: 2HS3 140 30 1
v 632 1NS2-120 100  1NS5 210 30 1 v 96 4SXE-1-100 30  4SXE-1 100 20 1
¢ T6432 Dif: -90 NS:1  1NS3 150 2.0 1 + AQJ5 Dif: 0 NS:2 4SE-2 100 20 1
& AJT7 IMP: -3 EW:-3 3HN3 140 1.0 1 & AK943 IMP: 0 EW:-2 3SE-2 100 20 2
» J9764 #» K853 1NS2 120 1.0 2 |[|a QT73 #» K8654 2HS2 110 20 1
v 94 v KJT7 3CN3 110 00 1 [|w 32 I v AKT 3SE-1 50 1.0 1
* Q9 + K85 3NS-1 50 40 2 [|e T987 * K3 4HS-1 100 -40 1
& 9853 » K4 2SW2 110 50 1 ||& Q87 » JT6 2SE2 110 40 1
®+VASN 4 AQ2 FOVAN 4, A2 3SE3 140 50 1
N 453~ 2 v AQ85 N 223~~ v QJ8754
S 453 ~2 ¢AJ7 S 223 ~~ ¢642
E ~~~1~ &Q62 E ~~~21 &52
W-~~~1~ W ~~~21
# 19 a9 4SXE-2 -500 Mean: 4SXE-2 500 2.0 1 ||#20 » 854 2DW-2 -200 Mean: 3NS4 630 7.0 2
v A9 4HS4 -420 430  4HS6 480 20 5 v KQT5 3NS4 -630 350  3NS3 600 6.0 2
« AT9872 Dif: -80 NS:0 4HS5 450 1.0 2 ¢ T83 Dif: 430 NS:7 2DW-2 200 40 2
& K762 IMP: -2 EW:-2 4HS4 420 00 1 & AK2 IMP: 10 EW:4 2NS4 180 5.0 1
s T74 ~ AKQ8653 3SE-1 100 -80 1 » KT962 2NS3 150 5.0 1
62 v T83 + v 862 1NS4 180 5.0 2
+ KJ654 *3 *5
& Q84 a J5 » 9853
o VABN ,J2 a AJ7
N 535~~ 'KQJ754 'J93
S 535~~ 4Q + KQJ
E ~~~2~ &AT93 & T764
W ~~~2~
# 21 & K92 4SE5 450 Mean: 5SE-1 50 9.0 1 # 22 & AT973 4SS-1 50 Mean: 4SS4 420 9.0 1
v K954 5SE-1-50 -340 4SE-1 50 920 1 v 84 3SS3-140 50  3SS3 140 30 2
+ A53 Dif: 500 NS:9 4SE4 420 -20 2 + AT4 Dif: 190 NS:3 3SN3 140 30 1
» J52 IMP: 11 EW:3 4SE5 450 3.0 6 » T54 IMP: 5 EW:3 4SS-1 50 3.0 4
4 Q87 & AJ654 a 64 4SN-1 50 3.0 1
v AJ32 v T6 v AKJT3 — v 76 18S-1 -50 3.0 1
¢ KQT64 7 ¢ 532 + QJ986
4 & AK763 & AJ96 » KQ82
F¢VABN ,T3 %o ¢ VAN 4, KQJB5
N ~~~~~ v Q87 N ~~~3~ v Q952
§ ~~~~~ ¢ J982 S ~~~3~ ¢K7
E ~~~42 &QT98 E 343~~ 473
W ~~~42 W 343~~
# 23 » 32 2SS-2 200 Mean: 3NE-4 400 9.0 1 ||# 24 » 8543 4HS4 -420 Mean: 4HS4 420 9.0 1
v J765 2DW290 0 3NE-3 300 7.0 1 v QJ852 4CE-1-50 40 5CXE-2 300 60 1
+ QJ94 Dif: 110 NS:-3 2CE-2 200 50 1 ¢ T82 Dif: -370 NS:0 3HN3 140 30 1
& A92 IMP: 3 EW:5 3CW3 110 30 1 & A IMP: -9 EW:-9 4CE-1 50 00 1
s K4 a AJT7 2DW2 90 3.0 1 ||s KJ76 ~ Q92 4HS-1 50 3.0 3
v 98432 + v K 2CE3 110 30 1 97 v A 4HN-1 50 3.0 1
¢ KT632 * A7 2CE2 90 3.0 2 ||e QJ765 * K4 4HXS-1 100 40 1
J S » K87653 2CE4 130 -40 1 ||a T2 » KJ87543 3CE4 4130 5.0 1
%o VAN 4 Q9865 2SS-2 200 -50 1 oo VAN 4, AT
N ~~~~~ v AQT N ~~3~1 v KT643
S ~~~~~ + 85 S ~~3~1 ¢A3
E 31~~~ QT4 E 31~2~ &Q9%
W31~~~ W 31~2~




112& < & > AMEEHEHL 2RI

==> RY

#1: 6 BEYE(114.31) #2: 3 FIE(110.55) #3 5 BkizA B £ (107.68)

4 NS: P& fa528h(5E0) 0 5 NS: BRES) $ZBREE(BAC) -1 9.56 10.44| Total VP: 66.40 Rank:
EW TEes mﬁ#(aqcn EW: E€#E HZ2%(BH0) 0 IMP:| 21 22 9
- —
# 17 'y T ZSWZ -110 Mean: 3NS3 400 7.0 1 |[#18 s J9 3SE3 -140 Mean: 2HS3 140 30 1
v 632 3NS-1-50 100 1NS5 210 30 1 v 96 3SE-150 30  4SXE-1 100 20 1
¢ T6432 Dif: -60 NS:-5 1NS3 150 2.0 1 + AQJ5 Dif: -190 NS:-5 4SE-2 100 20 1
& AJT7 IMP: -2 EW:4 3HN3 140 1.0 1 & AK943 IMP: -5 EW:-1 3SE-2 100 20 2
» J9764 #» K853 1NS2 120 1.0 2 |[|a QT73 #» K8654 2HS2 110 20 1
v 94 v KJT7 3CN3 110 00 1 [|w 32 I v AKT 3SE-1 50 1.0 1
* Q9 + K85 3NS-1 50 40 2 [|e T987 * K3 4HS-1 100 -40 1
& 9853 » K4 2SW2 110 50 1 ||& Q87 » JT6 2SE2 110 40 1
®+VASN 4 AQ2 FOVAN 4, A2 3SE3 140 50 1
N 453~ 2 v AQ85 N 223~~ v QJ8754
S 453 ~2 ¢AJ7 S 223 ~~ ¢642
E ~~~1~ &Q62 E ~~~21 &52
W-~~~1~ W ~~~21
# 19 a9 4HS6 480 Mean: 4SXE-2 500 2.0 1 ||#20 » 854 3NS3 600 Mean: 3NS4 630 7.0 2
v A9 4HS5450 430  4HSé 480 20 5 v KQT5 2NS3 150 350 3NS3 600 6.0 2
« AT9872 Dif: 30 NS:2 4HS5 450 1.0 2 ¢ T83 Dif: 450 NS:6 2DW-2 200 40 2
& K762 IMP: 1 EW:-1 4HS4 420 00 1 & AK2 IMP: 10 EW:5 2NS4 180 5.0 1
s T74 ~ AKQ8653 3SE-1 100 -80 1 » KT962 2NS3 150 5.0 1
62 v T83 + v 862 1NS4 180 5.0 2
+ KJ654 *3 *5
& Q84 a J5 » 9853
o VABN ,J2 a AJ7
N 535~~ 'KQJ754 'J93
S 535~~ 4Q + KQJ
E ~~~2~ &AT93 & T764
W ~~~2~
# 21 & K92 4SE5 -450 Mean: 5SE-1 50 9.0 1 # 22 & AT973 3SN3 140 Mean: 4SS4 420 9.0 1
v K954 4SE4 -420 -340  4SE-1 50 920 1 v 84 4S5S4 420 50  3SS3 140 30 2
+ A53 Dif: -30 NS:-3 4SE4 420 -20 2 + AT4 Dif: -280 NS:3 3SN3 140 30 1
» J52 IMP: -1 EW:2 4SE5 450 3.0 6 » T54 IMP: -7 EW:9 4SS-1 50 3.0 4
4 Q87 & AJ654 a 64 4SN-1 50 3.0 1
v AJ32 v T6 v AKJT3 — v 76 18S-1 -50 3.0 1
¢ KQT64 7 ¢ 532 + QJ986
4 & AK763 & AJ96 » KQ82
F¢VABN ,T3 %o ¢ VAN 4, KQJB5
N ~~~~~ v Q87 N ~~~3~ v Q952
§ ~~~~~ ¢ J982 S ~~~3~ ¢K7
E ~~~42 &QT98 E 343~~ 473
W ~~~42 W 343~~
# 23 » 32 3NE-3 300 Mean: 3NE-4 400 9.0 1 ||# 24 » 8543 3CE4 -130 Mean: 4HS4 420 9.0 1
v J765 2CE4-130 o0 3NE-3 300 7.0 1 v QJ852 3HN3 140 40 5CXE-2 300 60 1
+ QJ94 Dif: 430 NS:7 2CE-2 200 50 1 ¢ T82 Dif: -270 NS:-5 3HN3 140 30 1
& A92 IMP: 10 EW:4 3CW3 110 30 1 & A IMP: -7 EW:-3 4CE-1 50 00 1
s K4 a AJT7 2DW2 90 3.0 1 ||s KJ76 ~ Q92 4HS-1 50 3.0 3
v 98432 + v K 2CE3 110 30 1 97 v A 4HN-1 50 3.0 1
¢ KT632 * A7 2CE2 90 3.0 2 ||e QJ765 * K4 4HXS-1 100 40 1
J S » K87653 2CE4 130 -40 1 ||a T2 » KJ87543 3CE4 4130 5.0 1
%o VAN 4 Q9865 2SS-2 200 -50 1 oo VAN 4, AT
N ~~~~~ v AQT N ~~3~1 v KT643
S ~~~~~ + 85 S ~~3~1 ¢A3
E 31~~~ QT4 E 31~2~ &Q9%
W31~~~ W 31~2~




112& < & > AMEEHEHL 2RI

==> RY

#1: 6 BEYE(114.31) #2: 3 FIE(110.55) #3 5 BkizA B £ (107.68)

5 NS: BRZEER) BRIREEEIC) -1 4 NS: #i538 TR E)(F0) 0 10.44 : 9.56 Total VP: 107.68 Rank:
EW B&rE )‘;tz,gt(ﬁﬁo) 0 EW: iti#E4& BImE(BAC) 1 IMP:| 22 21 3
- o
# 17 'y T 25W2 110 Mean: 3NS3 400 7.0 1 |[#18 s J9 3SE3 140 Mean: 2HS3 140 30 1
v 632 3NS-150 100 1NS5 210 30 1 v 96 3SE-1-50 30  4SXE-1 100 20 1
¢ T6432 Dif: 60 NS:-4 1NS3 150 2.0 1 + AQJ5 Dif: 190 NS:1  4SE-2 100 20 1
& AJT7 IMP: 2 EW:5 3HN3 140 1.0 1 & AK943 IMP: 5 EW:5 3SE-2 100 20 2
» J9764 #» K853 1NS2 120 1.0 2 |[|a QT73 #» K8654 2HS2 110 20 1
v 94 v KJT7 3CN3 110 00 1 [|w 32 I v AKT 3SE-1 50 1.0 1
* Q9 + K85 3NS-1 50 40 2 [|e T987 * K3 4HS-1 100 -40 1
& 9853 » K4 2SW2 110 50 1 ||# Q87 » JT6 2SE2 110 40 1
®+VASN 4 AQ2 FOVAN 4, A2 3SE3 140 50 1
N 453~ 2 v AQ85 N 223~~ v QJ8754
S 453 ~2 ¢AJ7 S 223 ~~ ¢642
E ~~~1~ &Q62 E ~~~21 &52
W-~~~1~ W ~~~21
# 19 a9 4HS6 -480 Mean: 4SXE-2 500 2.0 1 ||#20 » 854 3NS3 -600 Mean: 3NS4 630 7.0 2
v A9 4HS5 -450 430  4HS6 480 20 5 v KQT5 2NS3 -150 350 3NS3 600 6.0 2
« AT9872 Dif: -30 NS:1  4HS5 450 1.0 2 ¢ T83 Dif: -450 NS:-5 2DW-2 200 40 2
& K762 IMP: -1 EW:-2 4HS4 420 00 1 & AK2 IMP: -10 EW:-6 2NS4 180 5.0 1
s T74 ~ AKQ8653 3SE-1 100 -80 1 » KT962 2NS3 150 5.0 1
62 v T83 + v 862 1NS4 180 5.0 2
+ KJ654 *3 *5
& Q84 a J5 » 9853
o VABN ,J2 a AJ7
N 535~~ 'KQJ754 'J93
S 535~~ 4Q + KQJ
E ~~~2~ &AT93 & T764
W ~~~2~
# 21 & K92 4SE5 450 Mean: 5SE-1 50 9.0 1 # 22 & AT973 3SN3 -140 Mean: 4SS4 420 9.0 1
v K954 4SE4 420 -340  4SE-1 50 920 1 v 84 4SS4 -420 50  3SS3 140 30 2
+ A53 Dif: 30 NS:-2 4SE4 420 -20 2 + AT4 Dif: 280 NS:9 3SN3 140 30 1
» J52 IMP: 1 EW:3 4SE5 450 3.0 6 » T54 IMP: 7 EW:-3 4SS-1 50 3.0 4
4 Q87 & AJ654 a 64 4SN-1 50 3.0 1
v AJ32 v T6 v AKJT3 — v 76 18S-1 -50 3.0 1
¢ KQT64 7 ¢ 532 + QJ986
4 & AK763 & AJ96 » KQ82
F¢VABN ,T3 %o ¢ VAN 4, KQJB5
N ~~~~~ v Q87 N ~~~3~ v Q952
§ ~~~~~ ¢ J982 S ~~~3~ ¢K7
E ~~~42 »QT98 E 343~~ 73
W ~~~42 W 343~~
# 23 » 32 3NE-3 -300 Mean: 3NE-4 400 9.0 1 ||# 24 » 8543 3CE4 130 Mean: 4HS4 420 9.0 1
v J765 2CE4130 o0 3NE-3 300 7.0 1 v QJ852 3HN3 -140 40 5CXE-2 300 60 1
+ QJ94 Dif: -430 NS:-4 2CE-2 200 50 1 ¢ T82 Dif: 270 NS:3  3HN3 140 30 1
& A92 IMP: -10 EW:-7 3CW3 110 30 1 & A IMP: 7 EW:5 4CE-1 50 00 1
s K4 a AJT7 2DW2 90 3.0 1 ||s KJ76 ~ Q92 4HS-1 50 3.0 3
v 98432 + v K 2CE3 110 30 1 97 v A 4HN-1 50 3.0 1
¢ KT632 * A7 2CE2 90 3.0 2 ||e QJ765 * K4 4HXS-1 100 40 1
J S » K87653 2CE4 130 -40 1 ||a T2 » KJ87543 3CE4 4130 5.0 1
%o VAN 4 Q9865 2SS-2 200 -50 1 oo VAN 4, AT
N ~~~~~ v AQT N ~~3~1 v KT643
S ~~ o~~~ ¢85 S ~~3~1 ¢A3
E 31~~~ QT4 E 31~2~ &Q9%
W31~~~ W 31~2~




112& < & > AMEEHEHL 2RI

==> RY

#1: 6 BEYE(114.31) #2: 3 FIE(110.55) #3 5 BkizA B £ (107.68)

6 NS: BzE#E Hn B (GHO) -1 7 NS: R1as8 Bt A(BAC) 7 8.33 11.67 | Total VP: 114.31 Rank:
EW: #F51 #RAeEE0) -7 EW: 255 BEE(BAO) 1 IMP:| 7 | 1
__ - —
# 17 T 3CN3 110 Mean: 3NS3 400 7.0 1 |[#18 s J9 3SE-2 100 Mean: 2HS3 140 30 1
v 632 1NS3 150 100  1NS5 210 30 1 v 96 3SE-2100 30  4SXE-1 100 20 1
¢ T6432 Dif: -40 NS:0 1NS3 150 2.0 1 + AQJ5 Dif: 0 NS:2 4SE-2 100 20 1
& AJT7 IMP: -1 EW:-2 3HN3 140 1.0 1 & AK943 IMP: 0 EW:-2 3SE-2 100 20 2
» J9764 #» K853 1NS2 120 1.0 2 |[|a QT73 #» K8654 2HS2 110 20 1
v 94 v KJT7 3CN3 110 00 1 [|w 32 I v AKT 3SE-1 50 1.0 1
* Q9 + K85 3NS-1 50 40 2 [|e T987 * K3 4HS-1 100 -40 1
& 9853 » K4 2SW2 110 50 1 ||& Q87 » JT6 2SE2 110 40 1
®+VASN 4 AQ2 FOVAN 4, A2 3SE3 140 50 1
N 453~ 2 v AQ85 N 223~~ v QJ8754
S 453 ~2 ¢AJ7 S 223 ~~ ¢642
E ~~~1~ &Q62 E ~~~21 &52
W-~~~1~ W ~~~21
# 19 a9 4HS5 450 Mean: 4SXE-2 500 2.0 1 ||#20 » 854 2DW-2 200 Mean: 3NS4 630 7.0 2
v A9 4HS6 480 430  4HS6 480 20 5 v KQT5 3NS3 600 350 3NS3 600 6.0 2
« AT9872 Dif: -30 NS:1  4HS5 450 1.0 2 ¢ T83 Dif: -400 NS:-4 2DW-2 200 40 2
& K762 IMP: -1 EW:-2 4HS4 420 00 1 & AK2 IMP: -9 EW:-6 2NS4 180 5.0 1
s T74 ~ AKQ8653 3SE-1 100 -80 1 » KT962 2NS3 150 5.0 1
62 v T83 + v 862 1NS4 180 5.0 2
+ KJ654 *3 *5
& Q84 a J5 » 9853
o VABN ,J2 a AJ7
N 535~~ 'KQJ754 'J93
S 535~~ 4Q + KQJ
E ~~~2~ &AT93 & T764
W ~~~2~
# 21 & K92 4SE5 -450 Mean: 5SE-1 50 9.0 1 # 22 & AT973 4SS-1 -50 Mean: 4SS4 420 9.0 1
v K954 4SE5 -450 -340  4SE-1 50 920 1 v 84 4SN-1-50 50  3SS3 140 30 2
+ A53 Dif: 0 NS:-3 4SE4 420 -20 2 + AT4 Dif: 0 NS:-3 3SN3 140 30 1
» J52 IMP: 0 EW:3 4SE5 450 3.0 6 » T54 IMP: 0 EW:3 4SS-1 50 3.0 4
4 Q87 & AJ654 a 64 4SN-1 50 3.0 1
v AJ32 v T6 v AKJT3 — v 76 18S-1 -50 3.0 1
¢ KQT64 7 ¢ 532 + QJ986
4 & AK763 & AJ96 » KQ82
F¢VABN ,T3 %o ¢ VAN 4, KQJB5
N ~~~~~ v Q87 N ~~~3~ v Q952
§ ~~~~~ ¢ J982 S ~~~3~ ¢K7
E ~~~42 &QT98 E 343~~ 473
W ~~~42 W 343~~
# 23 » 32 3NE-4 400 Mean: 3NE-4 400 9.0 1 ||# 24 » 8543 4HN-1 -50 Mean: 4HS4 420 9.0 1
v J765 2CE-2200 o 3NE-3 300 7.0 1 v QJ852 4HXS-1 -100 40 5CXE-2 300 60 1
+ QJ94 Dif: 200 NS:9 2CE-2 200 50 1 ¢ T82 Dif: 50 NS:-3 3HN3 140 30 1
& A92 IMP: 5 EW:-5 3CW3 110 30 1 & A IMP: 2 EW:4 4CE-1 50 00 1
s K4 a AJT7 2DW2 90 3.0 1 ||s KJ76 ~ Q92 4HS-1 50 3.0 3
v 98432 + v K 2CE3 110 30 1 97 v A 4HN-1 50 3.0 1
¢ KT632 * A7 2CE2 90 3.0 2 ||e QJ765 * K4 4HXS-1 100 40 1
J S » K87653 2CE4 130 -40 1 ||a T2 » KJ87543 3CE4 4130 5.0 1
%o VAN 4 Q9865 2SS-2 200 -50 1 oo VAN 4, AT
N ~~~~~ v AQT N ~~3~1 v KT643
S ~~~~~ + 85 S ~~3~1 ¢A3
E 31~~~ QT4 E 31~2~ &Q9%
W31~~~ W 31~2~




112& < & > AMEEHEHL 2RI

==> RY

#1: 6 BEYE(114.31) #2: 3 FIE(110.55) #3 5 BkizA B £ (107.68)

7 NS: ZA55% BRHEUEAC) 7 6 NS: BREEZE 2 (BRO) -1 11.67 : 8.33 | Total VP: 92.13 Rank:
EW: 27 FE5EE0) 1 EW: ¥ 518 #&E(BAC) -7 IMP:} 11 : 7 5
__ - o
# 17 T 3CN3 -110 Mean: 3NS3 400 7.0 1 |[#18 s J9 3SE-2 -100 Mean: 2HS3 140 30 1
v 632 1NS3 -150 100  1NS5 210 30 1 v 96 3SE-2-100 30  4SXE-1 100 20 1
¢ T6432 Dif: 40 Ns:2 1NS3 150 2.0 1 + AQJ5 Dif: 0 NS:2 4SE-2 100 20 1
& AJT7 IMP: 1 EW:0 3HN3 140 1.0 1 & AK943 IMP: 0 EW:-2 3SE-2 100 20 2
» J9764 #» K853 1NS2 120 1.0 2 |[|a QT73 #» K8654 2HS2 110 20 1
v 94 v KJT7 3CN3 110 00 1 [|w 32 I v AKT 3SE-1 50 1.0 1
* Q9 + K85 3NS-1 50 40 2 [|e T987 * K3 4HS-1 100 -40 1
& 9853 » K4 2SW2 110 50 1 ||# Q87 » JT6 2SE2 110 40 1
®+VASN 4 AQ2 FOVAN 4, A2 3SE3 140 50 1
N 453~ 2 v AQ85 N 223~~ v QJ8754
S 453 ~2 ¢AJ7 S 223 ~~ ¢642
E ~~~1~ &Q62 E ~~~21 &52
W-~~~1~ W ~~~21
# 19 a9 4HS5 -450 Mean: 4SXE-2 500 2.0 1 ||#20 » 854 2DW-2 -200 Mean: 3NS4 630 7.0 2
v A9 4HS6 -480 430  4HS6 480 20 5 v KQT5 3NS3 -600 350 3NS3 600 6.0 2
« AT9872 Dif: 30 NS:2 4HS5 450 1.0 2 ¢ T83 Dif: 400 NS:6 2DW-2 200 40 2
& K762 IMP: 1 EW:-1 4HS4 420 00 1 & AK2 IMP: 9 EW:4 2NS4 180 5.0 1
s T74 ~ AKQ8653 3SE-1 100 -80 1 » KT962 2NS3 150 5.0 1
62 v T83 + v 862 1NS4 180 5.0 2
+ KJ654 *3 *5
& Q84 a J5 » 9853
o VABN ,J2 a AJ7
N 535~ ~ v KQJ754 v J93
S 535~~ 4Q + KQJ
E ~~~2~ &AT93 & T764
W ~~~2~
# 21 & K92 4SE5 450 Mean: 5SE-1 50 9.0 1 # 22 & AT973 4SS-1 50 Mean: 4SS4 420 9.0 1
v K954 4SE5 450 -340  4SE-1 50 920 1 v 84 4SN-150 50  3SS3 140 30 2
+ A53 Dif: 0 NS:-3 4SE4 420 -20 2 + AT4 Dif: 0 NS:-3 3SN3 140 30 1
» J52 IMP: 0 EW:3 4SE5 450 3.0 6 » T54 IMP: 0 EW:3 4SS-1 50 3.0 4
4 Q87 & AJ654 # 64 4SN-1 50 3.0 1
v AJ32 v T6 v AKJT3 — v 76 18S-1 -50 3.0 1
¢ KQT64 7 ¢ 532 + QJ986
4 & AK763 & AJ96 » KQ82
F¢VABN ,T3 %o ¢ VAN 4, KQJB5
N ~~~~~ v Q87 N ~~~3~ v Q952
§ ~~~~~ ¢ J982 S ~~~3~ ¢K7
E ~~~42 &QT98 E 343~~ 73
W ~~~42 W 343~~
# 23 » 32 3NE-4 -400 Mean: 3NE-4 400 9.0 1 ||# 24 » 8543 4HN-1 50 Mean: 4HS4 420 9.0 1
v J765 2CE-2-200 © 3NE-3 300 7.0 1 v QJ852 4HXS-1100 40 5CXE-2 300 60 1
+ QJ94 Dif: -200 NS:5 2CE-2 200 50 1 ¢ T82 Dif: -50 NS:-4 3HN3 140 30 1
& A92 IMP: -5 EW:-9 3CW3 110 30 1 & A IMP: -2 EW:3 4CE-1 50 00 1
s K4 a AJT7 2DW2 90 3.0 1 ||s KJ76 ~ Q92 4HS-1 50 3.0 3
v 98432 + v K 2CE3 110 30 1 97 v A 4HN-1 50 3.0 1
¢ KT632 * A7 2CE2 90 3.0 2 ||e QJ765 * K4 4HXS-1 100 40 1
J S » K87653 2CE4 130 -40 1 ||a T2 » KJ87543 3CE4 4130 5.0 1
%o VAN 4 Q9865 2SS-2 200 -50 1 oo VAN 4, AT
N ~~~~~ v AQT N ~~3~1 v KT643
S ~~ o~~~ ¢85 S ~~3~1 ¢A3
E 31~~~ QT4 E 31~2~ &Q9%
W31~~~ W 31~2~




112& < & > AMEEHEHL 2RI

==> RY

#1: 6 BEYE(114.31) #2: 3 FIE(110.55) #3 5 BkizA B £ (107.68)

NS: Sogf4 221§EBE0) -9 9 NS: EHE EIAR(EAC) -15 12.77 : 7.23 Total VP: 97.48 Rank:
EW: #bE T SEBEEIC) 15 EW: #4818 BRiziF(BAO) 9 IMP:| 19 12 4
__ - —
T 3HN3 140 Mean: 3NS3 400 7.0 1 |[#18 s J9 2SE2 -110 Mean: 2HS3 140 30 1
v 632 1NS2 120 100  1NS5 210 30 1 v 96 2HS2110 30  4SXE-1 100 20 1
¢ T6432 Dif: 20 NS:1  1NS3 150 2.0 1 + AQJ5 Dif: -220 NS:-4 4SE-2 100 20 1
& AJT7 IMP: 1 EW:-1  3HN3 140 1.0 1 & AK943 IMP: -6 EW:-2 3SE-2 100 20 2
#» K853 1NS2 120 1.0 2 ||a QT73 #» K8654 2HS2 110 20 1
v KJT7 3CN3 110 00 1 [|w 32 I v AKT 3SE-1 50 1.0 1
+ K85 3NS-1 50 40 2 [|e T987 * K3 4HS-1 100 -40 1
» K4 2SW2 110 50 1 ||# Q87 » JT6 2SE2 110 40 1
VaN 4AQ2 FOVAN 4, A2 3SE3 140 50 1
3 ~ 2 v AQ85 N 223~~ v QJ8754
3~2 oAJ7 S 223 ~~ ¢642
~1~ &Q62 E ~~~21 &52
~1~ W ~~~21
a9 4HS6 480 Mean: 4SXE-2 500 2.0 1 |[|#20 » 854 1NS4 180 Mean: 3NS4 630 7.0 2
v A9 3SE-1100 430 4HS6 480 20 5 v KQT5 2NS4 180 350  3NS3 600 6.0 2
+ AT9872 Dif: 380 NS:2 4HS5 450 1.0 2 ¢ T83 Dif: 0 NS:-5 2DW-2 200 40 2
& K762 IMP: 9 EW:8 4HS4 420 00 1 & AK2 IMP: 0 EW:5 2NS4 180 5.0 1
~ AKQ8653 3SE-1 100 80 1 » KT962 2NS3 150 5.0 1
v T83 + v 862 1NS4 180 5.0 2
*3 *5
a J5 » 9853
SN »J2 a AJ7
~ ~ ¢ KQJ754 v J93
~~ ¢Q + KQJ
2 ~ & AT93 & T764
2 ~
& K92 4SE5 -450 Mean: 5SE-1 50 9.0 1 # 22 & AT973 4SS-1 -50 Mean: 4SS4 420 9.0 1
v K954 4SE4 -420 -340  4SE-1 50 920 1 v 84 3SS3140 50  3SS3 140 30 2
¢ A53 Dif: -30 NS:-3 4SE4 420 -20 2 ¢ AT4 Dif: -190 NS:-3 3SN3 140 30 1
» J52 IMP: -1 EW:2 4SE5 450 3.0 6 » T54 IMP: -5 EW:-3 4SS-1 50 3.0 4
& AJ654 # 64 4SN-1 50 3.0 1
v T6 v AKJT3 — v 76 18S-1 -50 3.0 1
o7 ¢ 532 + QJ986
» AK763 & AJ96 » KQ82
4T3 % ¢ VAN 4 KQJB5
v Q87 N ~~~3~ » Q952
¢ J982 S ~~~3~ ¢K7
& QT98 E 343~~ &73
W 343~~
» 32 2CE2 -90 Mean: 3NE-4 400 9.0 1 ||# 24 » 8543 5CXE-2 300 Mean: 4HS4 420 9.0 1
v J765 3CW3-110 o0 3NE-3 300 7.0 1 v QJ852 4HS-1-50 40 5CXE-2 300 60 1
+ QJ94 Dif: 20 NS:-3 2CE-2 200 50 1 ¢ T82 Dif: 350 NS:6 3HN3 140 30 1
& A92 IMP: 1 EW:3 3CW3 110 30 1 & A IMP: 8 EW:3 4CE-1 50 00 1
a AJT7 2DW2 90 3.0 1 ||s KJ76 ~ Q92 4HS-1 50 3.0 3
+ v K 2CE3 110 30 1 97 v A 4HN-1 50 3.0 1
* A7 2CE2 90 3.0 2 ||e QJ765 * K4 4HXS-1 100 40 1
S » K87653 2CE4 130 -40 1 ||aT2 » KJ87543 3CE4 130 50 1
& Q9865 28S-2 200 -50 1 * VAN AT
v AQT N ~~3~1 v KT643
+ 85 S ~~3~1 ¢A3
& QT4 E 31~2~ &Q9%
W 31~2~




112& < & > AMEEHEHL 2RI

==> RY

#1: 6 BEYE(114.31) #2: 3 FIE(110.55) #3 5 BkizA B £ (107.68)

9 NS: ZEEE FIHREAC) -15 8 NS: SE4H4 285 (EJ0) -9 7.23 12.77| Total VP: 79.11 Rank:
EW: i BRILER(BHO) 9 EW: BRiST SEBI(FIC) 15 IMP:| 12 19 7
__ - o
# 17 T 3HN3 -140 Mean: 3NS3 400 7.0 1 |[#18 s J9 2SE2 110 Mean: 2HS3 140 30 1
v 632 1NS2-120 100  1NS5 210 30 1 v 96 2HS2 -110 30  4SXE-1 100 20 1
¢ T6432 Dif: 20 NS:1  1NS3 150 2.0 1 + AQJ5 Dif: 220 NS:2 4SE-2 100 20 1
& AJT7 IMP: -1 EW:-1  3HN3 140 1.0 1 & AK943 IMP: 6 EW:4 3SE-2 100 20 2
» J9764 #» K853 1NS2 120 1.0 2 ||a QT73 # K8654 2HS2 110 20 1
v 94 v KJT7 3CN3 110 00 1 [|w 32 I v AKT 3SE-1 50 1.0 1
* Q9 + K85 3NS-1 50 40 2 [|e T987 * K3 4HS-1 100 -40 1
& 9853 » K4 25W2 110 50 1 ||& Q87 » JT6 2SE2 110 40 1
®IVABN 4 AQ2 FOVAN 4, A2 3SE3 140 50 1
N 453~ 2 v AQ85 N 223~~ v QJ8754
S 453 ~2 ¢AJ7 S 223 ~~ ¢642
E ~~~1~ &Q62 E ~~~21 &52
W ~~~1~ W ~~~21
# 19 a9 4HS6 -480 Mean: 4SXE-2 500 2.0 1 ||#20 » 854 1NS4 -180 Mean: 3NS4 630 7.0 2
v A9 3SE-1-100 430 4HS6 480 20 5 v KQT5 2NS4 -180 350  3NS3 600 6.0 2
+ AT9872 Dif: -380 NS:-8 4HS5 450 1.0 2 ¢ T83 Dif: 0 NS:-5 2DW-2 200 40 2
& K762 IMP: -9 EW:-2 4HS4 420 00 1 & AK2 IMP: 0 EW:5 2NS4 180 5.0 1
s T74 ~ AKQ8653 3SE-1 100 -80 1 » KT962 2NS3 150 5.0 1
62 v T83 + v 862 1NS4 180 5.0 2
+ KJ654 *3 *5
& Q84 a J5 » 9853
o VABN ,J2 a AJ7
N 535~~ 'KQJ754 'J93
S 535~~ 4Q + KQJ
E ~~~2~ &AT93 & T764
W ~~~2~
# 21 & K92 4SE5 450 Mean: 5SE-1 50 9.0 1 # 22 & AT973 4SS-1 50 Mean: 4SS4 420 9.0 1
v K954 4SE4 420 -340  4SE-1 50 920 1 v 84 3SS3-140 50  3SS3 140 30 2
+ A53 Dif: 30 NS:-2 4SE4 420 -20 2 + AT4 Dif: 190 NS:3 3SN3 140 30 1
» J52 IMP: 1 EW:3 4SE5 450 3.0 6 » T54 IMP: 5 EW:3 4SS-1 50 3.0 4
4 Q87 & AJ654 # 64 4SN-1 50 3.0 1
v AJ32 v T6 v AKJT3 — v 76 18S-1 -50 3.0 1
¢ KQT64 7 ¢ 532 + QJ986
4 & AK763 & AJ96 » KQ82
F¢VABN ,T3 %o ¢ VAN 4, KQJB5
N ~~~~~ v Q87 N ~~~3~ v Q952
§ ~~~~~ ¢ J982 S ~~~3~ ¢K7
E ~~~42 &QT98 E 343~~ 473
W ~~~42 W 343~~
# 23 » 32 2CE2 90 Mean: 3NE-4 400 9.0 1 ||# 24 » 8543 5CXE-2 -300 Mean: 4HS4 420 9.0 1
v J765 3CwW3110 o 3NE-3 300 7.0 1 v QJ852 4HS-150 40 5CXE-2 300 60 1
+ QJ94 Dif: -20 NS:-3 2CE-2 200 50 1 ¢ T82 Dif: -350 NS:-3 3HN3 140 30 1
& A92 IMP: -1 EW:3 3CW3 110 =30 1 & A IMP: -8 EW:-6 4CE-1 50 00 1
s K4 a AJT7 2DW2 90 3.0 1 ||s KJ76 ~ Q92 4HS-1 50 3.0 3
v 98432 + v K 2CE3 110 30 1 97 v A 4HN-1 50 3.0 1
¢ KT632 * A7 2CE2 90 3.0 2 ||e QJ765 * K4 4HXS-1 100 40 1
J S » K87653 2CE4 130 -40 1 ||a T2 » KJ87543 3CE4 4130 5.0 1
%o VAN 4 Q9865 2SS-2 200 -50 1 oo VAN 4, AT
N ~~~~~ v AQT N ~~3~1 v KT643
S ~~~~~ + 85 S ~~3~1 ¢A3
E 31~~~ QT4 E 31~2~ &Q9%
W31~~~ W 31~2~




112& < & > AMEEHEHL 2RI

==> RY

#1: 6 BEYE(114.31) #2: 3 FIE(110.55) #3 5 BkizA B £ (107.68)

1 O NS: $1E 38 =HEEAC) 12 1 NS: ¥8 lEi3h{h(F0) -16 17.31 2.69 Total VP: 76.07 Rank:
EW: £ 58 REEREHO) 16 EW: $E{_# MEFR(BAC) 1 IMP:| 31 : 7 8
__ -
# 17 T 3NS-150 Mean: 3NS3 400 7.0 1 |[#18 s J9 2HS3 -140 Mean: 2HS3 140 30 1
v 632 3NS3 -400 100 1NS5 210 30 1 v 96 4HS-1100 30  4SXE-1 100 20 1
¢ T6432 Dif: 450 NS:7 1NS3 150 2.0 1 + AQJ5 Dif: -240 NS:-4 4SE-2 100 20 1
& AJT7 IMP: 10 EW:4 3HN3 140 1.0 1 & AK943 IMP: -6 EW:-3 3SE-2 100 20 2
» J9764 f #» K853 1NS2 120 1.0 2 |[|a QT73 #» K8654 2HS2 110 20 1
v 94 v KJT7 3CN3 110 00 1 [|w 32 I v AKT 3SE-1 50 1.0 1
* Q9 + K85 3NS-1 50 40 2 [|e T987 * K3 4HS-1 100 -40 1
& 9853 » K4 2SW2 110 50 1 ||& Q87 » JT6 2SE2 110 40 1
®+VASN 4 AQ2 FOVAN 4, A2 3SE3 140 50 1
N 453~ 2 v AQ85 N 223~~ v QJ8754
S 453 ~2 ¢AJ7 S 223 ~~ ¢642
E ~~~1~ &Q62 E ~~~21 &52
W-~~~1~ W ~~~21
# 19 a9 4HS6 -480 Mean: 4SXE-2 500 2.0 1 ||#20 » 854 1NS4 -180 Mean: 3NS4 630 7.0 2
v A9 4HS6 -480 430  4HS6 480 20 5 v KQT5 3NS4 -630 350  3NS3 600 6.0 2
« AT9872 Dif: 0 NS:2 4HS5 450 1.0 2 ¢ T83 Dif: 450 NS:7 2DW-2 200 40 2
& K762 IMP: 0 EW:-2 4HS4 420 00 1 & AK2 IMP: 10 EW:5 2NS4 180 5.0 1
s T74 ~ AKQ8653 3SE-1 100 -80 1 » KT962 2NS3 150 5.0 1
62 v T83 + v 862 1NS4 180 5.0 2
+ KJ654 *3 *5
& Q84 a J5 » 9853
o VABN ,J2 a AJ7
N 535~~ 'KQJ754 'J93
S 535~~ 4Q + KQJ
E ~~~2~ &AT93 & T764
W ~~~2~
# 21 & K92 4SE5 450 Mean: 5SE-1 50 9.0 1 # 22 & AT973 1SS-1 50 Mean: 4SS4 420 9.0 1
v K954 4SE-1-50 -340 4SE-1 50 920 1 v 84 4SS-150 50  3SS3 140 30 2
+ A53 Dif: 500 NS:9 4SE4 420 -20 2 + AT4 Dif: 0 NS:-3 3SN3 140 30 1
» J52 IMP: 11 EW:3 4SE5 450 3.0 6 » T54 IMP: 0 EW:3 4SS-1 50 3.0 4
4 Q87 & AJ654 a 64 4SN-1 50 3.0 1
v AJ32 v T6 v AKJT3 — v 76 18S-1 -50 3.0 1
¢ KQT64 7 ¢ 532 + QJ986
4 & AK763 & AJ96 » KQ82
F¢VABN ,T3 %o ¢ VAN 4, KQJB5
N ~~~~~ v Q87 N ~~~3~ v Q952
§ ~~~~~ ¢ J982 S ~~~3~ ¢K7
E ~~~42 &QT98 E 343~~ 473
W ~~~42 W 343~~
# 23 » 32 2CE2 90 Mean: 3NE-4 400 9.0 1 ||# 24 » 8543 4HS-1 50 Mean: 4HS4 420 9.0 1
v J765 2CE3110 0 3NE-3 300 7.0 1 v QJ852 4HS-150 40 5CXE-2 300 60 1
+ QJ94 Dif: -20 NS:-3 2CE-2 200 50 1 ¢ T82 Dif: 0 NS:-3 3HN3 140 30 1
& A92 IMP: -1 EW:3 3CW3 110 30 1 & A IMP: 0 EW:3 4CE-1 50 00 1
s K4 a AJT7 2DW2 90 3.0 1 ||s KJ76 ~ Q92 4HS-1 50 3.0 3
v 98432 + v K 2CE3 110 30 1 9 v A 4HN-1 50 3.0 1
¢ KT632 * A7 2CE2 90 3.0 2 ||e QJ765 * K4 4HXS-1 100 40 1
J S » K87653 2CE4 130 -40 1 ||a T2 » KJ87543 3CE4 4130 5.0 1
%o VAN 4 Q9865 2SS-2 200 -50 1 oo VAN 4, AT
N ~~~~~ v AQT N ~~3~1 v KT643
S ~~~~~ + 85 S ~~3~1 ¢A3
E 31~~~ QT4 E 31~2~ &Q9%
W31~~~ W 31~2~




